

Wright Certified

Wright Implement 3225 Carter Road Owensboro, KY 42301 Phone: 270-683-3606 Fax: 270-683-0036 www.wrightimp.com



JOHN DEERE

SERVICE INVOICE

Deliver 10:	O:		
Internal Used Stock No. 44433	Invoice Number:	416244	
	Invoice Date:	7/18/2013	
	Branch:	1	
	Repair Order Number:	81232	
		Internal Used Stock No. 44433 Invoice Number: Invoice Date: Branch:	

D - C - - T - -

Phone:

Make/Model: E 9770/TRADE/Boswell/Billy M.

Meter Reading:

1H09770SCB0743119

Equipment Number:

100U9557

Page:

1 of 3

Account

Gen-Hydraulic Internal

Hydraulic Repairs Service Accessories Fee

EPA FEE

Gen- Internal

Phone:

Part Number Description DKGA2019 PROMOTIONAL

Parts: \$65.00

Labor: \$195.00

combine inspecton

Labor: \$195.00 Parts: \$0.00

Gen-Chassis & Frame Internal

DO REPAIRS PER BRUCE WESTERFIELD

Payment Type:

Serial Number:

Quantity

Misc: \$31.50

1.00

\$195.00

\$30.00

\$1.50 Taxed Ind

65.00 Total: \$291.50

Unit Nett

\$65.00 N

\$2,272.05

\$195.00

Value

Misc: \$0.00 Total: \$195.00

live with it

Sublet: \$0.00

Sublet: \$0.00

Technician Comments:

Replaced the h228727 bullet rotor sticker also, Reverser was over full I darined and refilled and ran it, took a half link out of the feeder house drive chain, adjuusted all the chains, replaced the loading auger sproket, rotar speen line leaking replaced the fitting, leveled the concave and calabrated it, resealed the fornleft final drive three plastic guides, full service

Part Number 14M7291	Description FLANGE NUT	JOHN	DEERE	uantity 1.00	Unit Nett 2.24	<u>Value</u> \$2.24	Taxed Ind N
4820	PARTS CL			2.00	3.99	\$7.98	N
AE38448	PRESSURE R			1.00	4.98	\$4.98	N
AH115833	AIR FILTER			1.00	60.91	\$60.91	N
AH128449	HYDRAULIC			3.00	54.96	\$164.88	N
AH212295	FILTER ELE			1.00	86.27	\$86.27	N
AH222225	FILTER ELEME			1.00	140.60	\$140.60	Ν
AXE17073	UNION FITTIN			1.00	158.34	\$158.34	N
H136186	DRIVER			1.00	67.19	\$67.19	N



Wright Implement 3225 Carter Road Owensboro, KY 42301 Phone: 270-683-3606 Fax: 270-683-0036 www.wrightimp.com



SERVICE INVOICE

Invoice To Account No.:

Deliver To:

Internal Used	Stock No. 44433	Internal Used Stock No. 44433	Invoice Number:	416244
			Invoice Date:	7/18/2013
			Branch:	1
			Repair Order Number:	81232
			Payment Type:	Account
Phone:		Phone:		

Make/Model: E 9770/TRADE/Boswell/Billy M.

Meter Reading:

Serial Number: 1H09770SCB0743119

Equipment Number: 100U9557

Page:

2 of 3

Gen-Chassis & Frame Internal

H171960	STRIP
H217178	LABEL
H220870	AIR FILTER
H228727	Label
H234586	SUPPORT
H234587	GUIDE
PM37463	LIQUID GAS
PM38655	SEALANT
RE509672	FILTER ELE
RE525523	FILTER ELE
TY22000	LOW VISCOS
TY22062	HY-GARD TM
TY25624	GREEN SPRA
TY26408	GREASE
TY26675	PLUS-50 TM E





3.00	24.08	\$72.24	Ν
1.00	19.64	\$19.64	Ν
1.00	56.79	\$56.79	Ν
1.00	9.01	\$9.01	Ν
1.00	55.49	\$55.49	Ν
1.00	23.25	\$23.25	Ν
1.00	2.96	\$2.96	Ν
1.00	15.04	\$15.04	Ν
1.00	20.27	\$20.27	Ν
1.00	115.51	\$115.51	Ν
1.00	16.41	\$16.41	Ν
1.00	39.11	\$39.11	Ν
1.00	9.49	\$9.49	Ν
4.00	21.77	\$87.08	Ν
3.00	42.60	\$127.80	Ν



Wright Implement 3225 Carter Road Owensboro, KY 42301 Phone: 270-683-3606 Fax: 270-683-0036 www.wrightimp.com



SERVICE INVOICE

Invoice To Account No.:	Deliver To:		CITAICE	INVOICE
Internal Used Stock No. 44433	Internal Used Stock No. 44433	Invoice Number	•	416244
		Invoice Date	: :	7/18/2013
		Branch	ı:	1
		Repair Order Number	: :	81232
		Payment Type	: :	Account
Phone:	Phone:	200		
		Make/Mode	: E 9770/TRADE	/Boswell/Billy M.
		Meter Reading	 :	
		Serial Number	: 1H097	770SCB0743119
		Equipment Number	:	100U9557
		Page	:	3 of 3
Gen-Chassis & Frame Internal				
TY6341 GREASE		2.00	3.97	\$7.94 N
Labor: \$2,272.05 Parts: \$1,37	1.42 Sublet: \$0.00 Mi	sc: \$0.00	Total: \$3,643	3.47
	報酬調報		Labor:	\$2,662.05
	/SAFFTY		Parts:	\$1,436.42
Customer PO No.:	/ O/ (L)		Sublet:	\$0.00
Tax Exempt No.:	/ live with it		Misc:	\$31.50
Advisor: JIM REID	(live with it)		Sales Tax:	\$0.00
	Apply from the residence can be used to the control of the control		Total:	\$4,129.97

JOHN DEERE

Signed:	Date:
---------	-------

Combine

Sample Pin Number:

H09650X678766

Limited (engine & powertrain) Cov. Form Deductible \$500

Covered Engine Components

Cylinder block Rocker arm cover Timing gear covers Head Oil pan

Plus all parts contained inside any of the above components

Fuel injection pump & injectors
Electronic unit injectors
Water pump
Electronic fuel injection controller
Flywheel
Turbocharger
Crankshaft seals
Oil seal housings
Intake and exhaust manifolds
attached to the cylinder head
Oil coolers mounted directly to the engine
Crankshaft torsional damper
Starters

Covered Powertrain Components

Engine gearcase
Gearcase input shaft
Hydrostatic drive pump and motor
Propulsion transmission
Final drives

All parts contained inside of any one of these components

Covered Misc. Components

Cylinder/Rotor Drive gearcase
Reverser gearcase
Primary counter shaft gearcase
All parts contained inside of any of these components

Covered Factory Rear Wheel Drive Assist Components

Hydraulic drive motor

Drive shaft and planetaries of factory installed JD

rear wheel drive assist units